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B.Se. 1st Semester (General) Examination, 2022 ((CBCS) 

Time: 2 Hours 

1. Answer any five questions: 

Subject : Chemistry 
Course : CC-1AGE-1 

SP-UCEMGICC-IA/GE-I2) 

The figures in the ight hand margin indicate full marks. 
Candidates are required to give their answers in their own words 

as far as practicable. 

(a) What do you mean by Stationary orbit? 

(b) Why I.P. value of Li is higher than that of He? 

Full Marke: 40 

(c) Write down the electronic configuration of Fe and state its position in Periodic Table. 

(d) Give one example for each of Bronsted Lowery Acid and Base. 

(e) What do you mean by Hyper Conjugation? Give one example. 

(f) Write down the two tautomeric forms of ethyl acetate. 

2x5=10 

(g) Name one alkene which produces acetone and formaldehyde upon ozonolysis. 

(h) What are the Hofmann and Saytzeff products of 2-bromopentane. 
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2. Answer any wo questions: 

(a) (i) Balance the cquation using ion-electron nethod. 

(b) 

Zn + NaOH + NaNO, ’ Na,ZnO, + NH, + H,0 

B,C,N,O,F 

(i) What would be the increasing order of LP. of the following elements? Give reason 
behind your answer: 

(i) Explain the acidity order of the following acids. 

(2) 

HOCI, HCIo,, HCIO,, HCIO, 
(ü) Between NH, and NF, which one is a stronger Lewis base? Explain. 

3 

(c) (i) Write short note on : Wurtz reaction. 

(ii) Why acetylene is more acidic than Ethylene? 

(d) (i) What do you mean by 'meso compound'? Give example. 

(ii) Write down the Fischer-projection formula of 
erythro -2-bromo-3-chloro-butanol 

qfaceT-2-sIaI-3 PILAI-fASD7 

(iii) What is stereo isomer? 

3. Answer any two questions: 

5s, 4d, 3p, 3d, 4s, 5p 

52=10 

5s, 4d, 3p, 3d, 4s, 5p 

3+2 

3+2 

3+2 

2+2+1 

(a) i) Write down Aufbau's principle; arrange the following orbitals in accordance with the 

said principle. 

10×2=20 



(i) Explain the Lux-flood theory of acid-base. 

(ii) Write down limitations of Bohr's thoery. 

(iv) Derive an expression for the energy of an electron rotating in a circular orbit of a 

hydrogen atom. 

(b) () Complete the following transformations. 

() ethylene ’ ethylalcohol 
(II) Acetone ’ Isopropene 

(III) Acetylene ’ Acetaldehyde 

(ii) Complete the reactions (any two): 

() CH, � CH = CH, 

() CH, CH � CH, 

Br 

(I) CH, �C=CH 

HBI, ? 

KOH 

alc. 

HgSO, 
20%H,S0, 

2 
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(c) (i) Define comproportionation and disproportionation reaction with examples. 

(ii) State the oxidation number of the two nitrogen atoms in NH,NO,. 

(i) Mention the significance of azimuthal and magnetic quantum number. 

(iv) Give one example for each of-Hard acid & Soft acid. 

Hard acid Soft acid gg goo A S3 8| 

3+2+2+3 

3x2 

2x2 

(2+2)+2+2+2 
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(d) () Write down the Markonikov's rule with proper example. 

(4) 

() Comment on the relative stability of the Carbocations: 

() CH, -�H, 

(II) 

() What happens when alcoholic KOH is boiled with chloroform? Give complete reaction. 
3+4+3 
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